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Ajmal National Talent Search Examination, 2009
Class:V
Time/AN : 2 hours () Full Marks/ S8 57993 (25+25+25+25)=100

INSTRUCTIONS / figa*iiaen ¢

1. Attempt All Questions. / TSIFCH! 24 TEIF4 |
2. There are four options to every question. Choose the correct option by putting any one of a, b, ¢ or d,

in the box / &ifSTE! 2Mi< B! g Tee i =it | wa Tears! iz Tz FiTe 2 qwve a, b, ¢ at d &far)

General Knowledge / #i4i<e <aid

1. The music maestro ‘Tansen’ was in the court of / 25T FFIG SN FIF IS Sifze ?

a) Babur /I b) Akbar/®ie<@  ¢)  Shahjahan/#iZeia d) Aurongzeb/&aed ||
2. IfBADis written as DDH. then SON will be: / ¥ BAD & DDH fe1 fe12l (ot® SON < 35 et fefeia 2

a) UUI b) URP ¢ UuZ d) URR []
3. ‘Somdev Deb Barman’ is associated with: / ‘GINm< (@ 56 i (41 w151 e 2

a) Badminton / @S5 b)  Lawn Tennis / S=(5ag

¢) BasketBall /<Ic#53e d)  Table Tennis / (51 (52 []
4.  Internet is the short form of: / TR (Internet) 523 7He Tt 2

a) International Networking / 35RGGEE 163  b)  Inner Networking / 29 (163 |:|

¢) Inter Networking / Z511 61 d)  None of these / GBr8 =T

5. Who wrote the book ‘Glimpses of world History’ / ‘& 3z fefenef” (wice ferfaifest 2

a) Ruskin Bond / 3if&3e b)  Jawaharlal Nehru / SQ2ae1s (7125 |:|
¢) Sarojini Naidu / ARIf& 712G d)  Khushwant Singh / @1

6.  “Veerbhoomi’ is the cremation place of / ‘TG F17 =faze 2
a) Jawaharlal Nehru / &z 11 (e b)  Indira Gandhi / 2o []
¢) RajivGandhi / I&= sl d)  Zail Singh / &5 1

7. ‘Nano’ is a model of / ‘I ST (&7 @A 0we ?
a) Maruti/¥%e!  b) Hyundai/2%® ¢) Tata/B0l d)  Suzuki/zgH []

8.  Inthe famous ‘Tom & Jerry’ Cartoon character, Who is Jerry? / R251e 5 @@ (w91 S5 5@ (o= (i Siifes 2
a) Thecat/ &St b) Themouse/fsf  ¢) Thedog /3 d) None of these / 45IS H?QZID

9.  Manmohan Singh is the member of Rajya Sabha from the state of: / SW(NZe PR ey TSI (Fie ST 2@ W0
oo tafeet e
a) Andhra Pradesh / o o=l b)  Assam /<P |:|
c) Haryana /2@l d)  Rajasthan /9&=iN

(1]



GNANTSE_2009\Class-5 (Science-Maths) Page No. # 2

10.  The first European nation to come to India was: / (i BCEITTR (SIID I A0S SIwis iz e 2

a) TheBritish /35 b)  TheFrench /i []
¢) TheDutch /ity d)  The Portuguese / *[€3 s (GTIeT)

11.  A.R.Rahman was awarded ‘the Golden Globe Award’ for best music score for the film: / 9. 9. I (el 2o T
TR SAABIETTIE AN 918 (2] 7201 fran Cafet 2

a) Chandni Chowk to China /5 (5 55%a1  b)  Yuvraj / 359e []
¢) Slumdog Millionaire / 7 wa! fifemig d)  Delhi-6/ @y

12.  Complete the series : 3,7, 15, 31, / RSN T=7)ef -
a) 43 b) 57 0 77 d 63 []

13. Mahatma Gandhi was not associated with: / T2l sl {521 191 Sfbw mife 2

a) Non Co-operation Movement / S-7&C1% Wit |:|

b) Home Rule Movement / (Z[5<5T ST
¢) Civil Disobedience Movement / Sli2e SISl ST
d) QuitIndia Movement / SIS jisl SAICHIETw

14.  How many strings does a violin have? / SI@Ife® (20! O} ®N(z 2

a) 3 b) 4 0 5 d 6 []
15. The Speaker of Lok-Sabha, Somnath Chatterjee, Belongs to which party ? / (ISR S Gl (55{& (P G (o

VoI 51910 GG 2

a) Indian National Congress Party /SIS 1 (g ¥ 2R |:|

b) Samajwadi Party / ssiieraii! +iif
c) CPI(M) /.= («@x)
d) None of these / «bie 7z

16. Find the odd one: / f5& 92151 fAifF Sfereat

a) O b) @ ) d) []

17.  National Youth Day is observed on the birthday of: / %< &1 fae<s 2181 32 <7 f25ice! #fieiw 51 23 2

a) Netaji Subhas Ch. Bose / (Fel&15/e@b%<% b)  Swami Vivekananda / =3 R |:|
¢) Sardar Ballavbhai Patel / 5Has@e ©i2 (?(551 e)  Rajiv Gandhi / &R i

18. Blood is filtered through which organ? / *915a (FiF S92 (S “AfRTIT F 2

a) Heart /zwise b)  Liver/3fwel |:|
¢) Kidneys / et d)  Brain/ g

(2]
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19.  Sriharikota from where chandrayan -I was launched successfully is in the state of / ®12fJ (5! 7’9 711 2 GHQTS 7Fe

T T (27, (I TS SRHS ?
a) Orissa /SRy b)  Andhra Pradesh / Si&eiom |:|
c) Karnataka / {5 d) Kerala/ &=

20. Which blood group is known to be the universal recipient? / (Fi¥ (S 22[F T2 AFCEIE 7] (O 270 F 21T 2
a) Group-A/&-A b) Group-B/2-B ¢)  Group-AB/&-AB d) Group-O / &#-O I:l

21. ‘Milkybar’is a product of / T T @I Tesiine 2
a)  Amul /Sgs b)  Nestle / (I6¢sT c) Cadbury / @e@@  d)  Candico / et |:|

22.  Whatis the meaning of Kindergarten? / ‘Kindergarten’ 351 2

a) Garden of flowers / TR 6! b)  Garden of children / rsa=ifan! I:l
¢) Garden of fruits / TR {16! d)  Playing garden / (3@ 3ifa5!

23. The song ‘Aae Mere Watan Ke L.ogo’ was written by / ‘4 (3¢ {713 T4 (F CTICal e (Pie forfifeey 2
a)  Gulzar/ @& b)  Pradip /@i []
c) Javed Akhtar / SITen SIS d)  Salim/ e

24.  “Wimbledon’ Tennis Tournament is played in / SFeTG (GeTlb S (&1 2312
a) Australia /=@ b)  Sweden / H3reA c)  England /&@e d) TheU.S.A /= I:l

25.  What s the full form of ‘ADIDAS’? / ‘ADIDAS’ I 37s}¢f it 5 2

a) Allday I dream about sports / 2iCe5 a2 512 (4 AR (el

b) Always I dream about sports / %I 2 (LR AN (T2l

c) Always and all day I dream sports / %I i< 2005 a2 N2 (4T ACHA (Tl
d) None of these / 3 dole 77

[]

General English / iiqe 353t

26. Heinvited me tea.

a) at b) for c) to d on I:l
27. Beware back-biters.

a) against b) from c¢) for d) of |:|
28. Thisis to me.

a) anews b) news c¢) thenews d) notanews I:l
29. is a domestic animal.

a) acow b) cow ¢) thecow d) cows |:|
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30. Thisis

a) Dbetter b)  Dbest ¢)  more better d) more good.
31. 1 exercises everyday.

a) amtaking b)  wastaking c) take d) took
32. The of Kashmir is charming

a) Scene b)  Sight ¢c)  sceneries d) scenery

33.  One who loves his country and serves it devotedly is a .
a) martyr b)  patriot c¢)  freedom fighter d) politician.

34. The feminine gender for Sir is
a) miss b) lady. c)  aunt d) madam

35. Inthe phrase “Kinder-garten School”, kinder means:

O O o o o O

a) Kind school teachers b)  kind ayah or nursemaids
¢) children d)  school with a garden

36. The adjective connected with the word dog is:

a) ovine b)  bovine ¢c)  canine d) ferine. |:|
37. The word correctly spelled in the following options is:

a) bycycle b)  bicycel c)  bisycle d) bicycle I:l
38. Itisuseless to over the past.

a) gref b)  grieve c)  aggrieve d) grievance I:l
39. TURTLE is to SLOWNESS as isto SPEED.

a) rat b) dove c) eagle d) hare |:|

40. HILL isto MOUNTAIN as HOUSE is to .
a) cottage b)  mansion c)  office d)  building I:l

In the following question, a sentence has been given in active voice. Select the choice which best expresses the
sentence in passive form.

41. This cup contains tea.

a) Teacontains this cup b)  Teaiscontained by this cup |:|
c) Teaiscontained in this cup d)  Containis by this tea cup.

42. Open the gate.

a) The gate is opened. b)  Tell himto open the gate. I:l

c) Let the gate open d)  Letthe gate be opened.
(4]
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In the following question, a question has been given in Direct Speech. Select the choice which best expresses the
sentence in Indirect speech.

43. “Please don’t go away “ she said.

a) Sherequested me not to go away. b)  She told me not to go away. I:l
c) Shebegged me that I not go away. d)  She ordered me to not to go away.

The following sentences are divided in to three parts and each part is underlined and marked a,b,c. Only one part
contains an error. Identify the error part. If there is no error, mark it (d)..

44, He came across with a beggar. No error. I:l
a b C d

45. I know how to start the engine but do not know to stop it. No error. I:l
a b C d

46. He says that he has a car beside a scooter. No error. I:l
a b C d

In the following sentences you are required to find synonyms or words having the same meaning for the italicized
word in the sentence. Choose the option which best expresses the same meaning..

47. The cyclone had blown some of the cars to funny places.
a) laughable b)  humorous c) odd d) interesting. |:|

48.  Arrange the numbers in ascending order.

a) Fromsmalltobig b) Decreasing c¢)  frombigtosmall d) inverse I:l

In the following sentences you are required to find antonyms or words having the opposite meaning for the italicized
word in the sentence. Choose the option which best expresses the opposite meaning.

49.  Wereceived a cordial welcome from our host..
a) cold b)  happy ¢  smiling d)  official. []

50. Such a scene attracts the onlookers.

a) repels b)  moves c)  bringsnear d) invites. I:l

General Mathematic / F<e 9o

51.  (abc abc) + (abc) = ------------
(abc represents any 3 digit number) / (abc [ (e foH51 =ik R 7122071)
a) 11 b) 101

c) 1001 d)  Can’tbe determined / e 57 @aifd |:|
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52.

53.

54.

55.

56.

57.

58.

59.

Number which is divisible by 11 / (11 (3 Reien 72515 2°9)

a) 74396 b) 45703 ) 60390 d) 98498 []
The Roman numeral for 3721 + 61 is— (3721 + 61 I @ sm(o© FTget M 2F)

a) LC b) XLI 0 LXI d CM []
Four bells ring at intervals of 6, 7, 8 and 9 seconds respectively. All the bells ring together after seconds. (GIf<G!
O 6, 7, 8 T 9 (RFET AKLITS TS | SNGIZCFL! T oo = forme qretrel AIfEa 1)

a) 504 b) 516 ¢ 508 d 512 []

The smallest number which when divided by 20, 25, 35 and 40 leaves a remainder of 14, 19, 29 and 34 respectively.
The number is: (45! F@es 7147 20, 25, 35 < 40 (I ©i9 IR SR G0 14, 19, 29 BNk 34 A | 7RG T3.)

a) 1394 b) 1404 ¢ 1664 d) 1406 |:|

The value of 3i— 1§+ 21— ll—l is—
12 i 4 2 2 3

3i— 1§+ 21— 11—l I3
12 | 4 2 L2 3

b 2 0 1 d 0 []

N |~

3
The Indian cricket team won 4 more matches than it lost with Srilanka. If it won 5 of its matches, how many matches

did India play? (SRS {0 w(a AT #191S [ (4eT0 #Iifers (2feat Orois 4 4o I (2eTe Tl (2% | I So = wee

3 .
I (L1 g@i“ﬁ@fﬁ?{?{ (0T (OSTENT JIT (32 (3 (4 2)

a) 8 b 12 0 16 d) 20 []
Fraction for 0.012 is—(0.012 9 @45 2°9—)
12 12 2 12

9 100 T 9 1000 D 1000 []
0.1 0.001

Which number is equal to —O 001 —O 01 ?

0.1 , 0.001

0.001 T 0.01 ) TR ANIE 2~

a) 100.1 b) 10.10 ¢ 1001 d) 100.01 []

(6]



60.

61.

62.

63.

64,

65.

66.

17.28+12
3.6x0.2
a) 02 by 2 c) 20 d) 0.02

In /RPO vertexis—( ZRPO IFH g 29?)
a)y R b) P ¢ O d) none

The measure of .~ AOB in the following figure is— (5¥= 5@® £ AOB <9 =51 |)

B A
R, i
%
\\_\ %
e, A
\\dj 90"
>
O
a) 90° by 44° c) 224° d  134°

How many chords of a circle can we draw ? (<51 ge© iR 71 T3 1)
a) 1 by 2

c) 4 d)  Anynumber (T 7R2)

A triangle can have. (5! fagers 9151 A1)

a) Oneright angle (@bl b)  Two right angles (751 5BIC1)
¢) Three obtuse angles (FsfEIZeT) d)  None («bre =)

Find the area of the figure shown below. (@s7e fral has <sif fRefa ==t)

1 cm. 1 om.
BERE:
5 cm. J
a) 9 Sq. Cm. (3 =sfie) b) 10 Sq. Cm (3of czfile)
c) 11Sq. Cm. (3 czfiz) d) 158q. Cm. (3 =zf¥g)

Number of triangles in the given figure is— (%5T® firal Hae 2 fage 7= (2@)

a) 14 by 19 o)y 12 d)y 20
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

The cost of 35 kg. of rice is Rs. 612.50. The Cost of 1 kg. of rice is— (35 22z 5I8s1T s 612.50 55 2'0e1 4 [peeiis
BIGeR 7S 29—

a) Rs.14.50 (5= b)  Rs.17.50 (5=) ¢)  Rs.15.50 () d) Rs.16.50 (5=) |:|

A cuboid measures 36 m. x 24 m. x 18 m. How many cubes of edge 6 m. can be cut from the cuboid?

(36 f3ig x 24 f¥g x 18 filg (712 SIS Geih< 91 6 g g KRB w01 715 519w S 21 2)
a) 72 b) 144 o 36 d) 288 []

If 37.5% of a number is 450, then 87.5% of the number will be— (95! 7T 37.5% I 40 T, (ST AANGH
87.5%%’3-)

a) 825 b) 1175 ¢ 1050 d) 1250 |:|

The average of 0.3, 0.03 and 0.003 is— (0.3, 0.03 = 0.003 §97¢ 23—)
a) 03 b) 0.1 ¢ 0.111 d)  None (¢ble =) |:|

The angles in a right angled isoceles triangle are— (IR 712 A2 fGgs™ (@Fiet (25 F—)
a) 60° 60° 60° b)  90° 60° 30° c)  90° 45° 45° d) 70° 50° 60° |:|

The average of first four prime numbers is— (223 5ifS5! GferE AL 91T T9—)
a) 4 b) 4.25 c) 5 d 625

The average of the five odd numbers between 18 and 28 is— (18 ©0i= 24 F 3(Ier® 2 #({65] S AL MG 2'3—)
a) 18 b) 20 c 15 d 23

The sum of the first five multiples of 6 is— (6322 5 Bl el ITHF (TI9F 2 5—)
a) 90 b) 60 c) 30 d 120

1 O O

A quadrilateral in which only one pair of opposite sides are parallel is called a— (59 g & RIS A2 TGN
(e, 5YED! T9-)

a) square (39 b)  rectangle (1T®) ¢)  rhombus (I55) d) trapezium ((GifEm) I:l
General Science / 4 fJEais

The skin of terrestrial animals is protected by—/ fo® a1 %41 2117 B ez 7 ez 2

a) feathers/#ifd b)  slimy scales / sifes1 qFeT! |:|

c) dryscales / ST d) gills/3=

Which of the following is not true for the animals living near the equator? / &J (Fo! Bfe [Rga Szt 791 741 2T
CFa\© Wi 27 ¢

a) they have very little hair / Z¥eI 7MW 5 A b)  they have thick skin / 3¥ea 1o = 2 |:|
c) they have thick fur / ST TI5 (T A d)  all the above / I5IZ (25!

(8]
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78.  The fruits and seeds brought in by travellers to India are— / #IfRQISF 71 IO FIHAZ S 67 N 167 (27—
a) coffee /3 b)  litchi/#p
¢) both(a)and (b)/ (a) < (b) 70 c)  berry/@ly

[]

79.  Which of the following has no teeth? / &&= (FHIR W NI 2
a) Crocodile /9= b)  Whale / f&f¥ c)  Bat/amgen d) Birds/5ai®

80. The largest group of animals living on the land are— / #jf2<T® 2! 2ITK SABRST ©lea eenifo—
a) worms / (?is] b)  snakes /3 c) insects / 71\ d) frogs/ @T«?

81. The strongest muscles of the body are found in— / *S1<® SBESCH * G (7T F7S AF 2
a) wrist / SRS b) eyes/vP c) jaws /% d) thighs /=

82. Pneumonia is caused by— / WEx 1 [F2 #9123 2
a) bacteria/ @@ b)  insects / #e% ¢c)  mosquitoes /T2 d) rats/ WS

83.  Which of the following has no vaccination? / &7 (V5! (@ (Il HhITael 12 2
a) Tetanus/%2&FS b)  Polio / ferer c¢) Commoncold/5% d) Tubereculosis /!

84. Potential energy increses with the increase in— / Zfs *fe g ........... ITgfo x|
a) work /3l b) force /3 c) speed / &fo d) position /Z™

85. The most abundant chemical element in the earth’s crust is— / G2 25a 2RI (ol IR GeTeHl—
a)  aluminium / GRS b)  silicon /e
c) iron/ Gl d)  oxygen /SIECE

O O o oo o o O

86. Which of the following is a non-metalic mineral? / &&= (! S Ufeer #iief 2
a) Petrolium / (oIGferIs b)  Feldspar / Ge=ia
c) Gypsum / &5 d)  Hematite / ZFIGIZ6

[]

87. Humidity is—/ Sitwel (2%
a) the amount of air present in any region / (It 5! SIeTS 2| RS 2/l |:|
b) the amount of any liquid present in air / I® Ll I w19 7Afqiel

c) the amount of water vapour present in air / I 25 &1 A2 sifIwiel
d) the amount of elements and compound present in air / JY® 2 G S (191 7AfT0el

88.  Sequence of positions of Sun, Earth and Moon during solar eclipse is— / 3 2269 51 I, 52 S 5% SIgIe G osl-

a)  Sun, Earth and Moon / 353, sjf2< S b b)  Earth, Sun and Moon / 53}, 531 =< 5@
¢) Sun, Earth and Planet / 33, 2} i< b& d)  Sun,Moon and Earth / 337, 5& i< 9Jf2i1

89. Space age began in—/ SRS I ST (2feF—
a) 1947 b) 1957 0 1967 d) 1977 []

]
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90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

The number of national parks and sanctuaries in India are— / S1® IS G THI S TSR o AR T~

a) 44land/==80 b) 80and/=w44l ¢ 144and/uw80  d) 80and/T=414 []
Noise pollution is a type of— / *7 273 4F &FTI—

a)  Water pollution / && 2gae b)  Particulate Pollution / Ric<= @iyzel |:|
c) AirPollution /g =7el d)  Land Pollution / s @vze

When we destroy a forest we destroy— / Qe S[elj &g 1 A {3 &R 41 & 2

a) AnEcosystem / 95! #f&%fowg b)  Theenvironment / #if&@= |:|
c) Population of wild life / 35 AT AR d)  Food and shelter of wild animals / 3 21T < S APTZ

Backbone protects the— / (3 S Felic=rel ez 2
a) Brain /=¥ b) Lungs/2€me ¢)  Heart/z7 d) Spinal Cord/ Gimresr ||

The fore limb of a man is made up of— / STZ3 TS (FTTI ZCTE 94F© 2
a) 30bones /2T b) 28bones/TT c) 33 bones / 2T d) 66bones /2T I:l

Brain receives messages through— / %% 8 2 916! 7eg < 2
g g

a) Motor nerves / BIeTF R b)  Sensory nerves / FREMI R |:|
¢) Both motor & sensory / 5IFF S 7@ e d)  None of the above / €5ie 953

The smallest unit of an element which takes part in chemical reactions is— / IRRNE RIS SI9ERT (7161 G5 Fao

a) atom / “I<lY b)  molecule / % c) electron / 3T d) proton /@B I:l
Which of the following has potential energy? / @R (FHR e =itz ?

a) Runningboy / (rifRe=msval b)  Wounded spring / (5fitaiai feik |:|
¢) Moving car / 9 oS! d)  Asitting man / 9& 32 41 A2

Scissiors is an example of— / (Fb 23 Twizae 2

a) First order lever / 2% (¥ ferel b)  Second order lever / TSR (¥R feTe |:|
¢) Third order lever / $oRI (¥ fereq d)  Complex machine / T 77

The structural unit of living thing is— / &< (723 915 €355 21—

a) Atom / “<_¥ig b)  Molecule / = |:|
¢) Compound Substance / (5 =iwief d) Cell/ @

The plant with compound leaves— / (14 7@ 2 STEWCH! (22—
a) Rose / ¢t b) Mango /9N ¢) Jamun/@Y d) Banana/3s |:|

00000
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